Normalized Elliptic LPF with Rs =R, = 1 ohm, A,=11.48dB at normalized w, =1.1 (text book Ch.7, p.243-
245)

0.37471
L1

- R
o 1.94752 -

1.22525 Q%l 4199528

-18.854
-6.8398
-12.815

18mHz 3omHz 1BBmHz SBBmHz 1.8Hz 3.8Hz
{oUDB(R2:2)

Frequencyx*pis=2

(Note: 1 Hz should be read as 1 radian/sec, etc. )



OTA-C based realization of the Elliptic LPF (text book Ch.7, p.243-245). The OTAs are simulated by ideal
VCCS elements (SPICE symbol G). So each OTA input is shunted by 10*? Q to avoid problems of ‘open
circuit’ error messages.
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